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Sl. No.1
QBID:1554981

Choose the correct form of verb to fill in the blank.

If you have knowledge, let other candle in it.

(1) lights

(2) light

(3) lighter

(4) lighted

e Smwu & 7o R 1 et o us § % B 918N $Ed § 2
(1) O

(2) E N

(3) & =

(4) =iy

1[Option ID=14501]
2[Option ID=14502]
3[Option ID=14503]
4[Option ID=14504]

Sl. No.2
QBID:1554982

Choose the appropriate preposition to complete the sentence.

Rohan 1s very concerned his father health.

(1) for
(2) with
(3) about
(4) of

fafifEa & @ = ad o o Rfkd Fifem -
(1)
(2) 7
(3) T
(4) ¥l

1[Option ID=14545]
2[Option ID=14546]




3[Option ID=14547]
4[Option ID=14548]

Sl. No.3
QBID:1554983

Pick out the correctly spelt word.
(1) magnanimus

(2) magnaminous

(3) magnanimous

(4) maganimous

H9 1 #uF faU U ¥ TF fHF (Assertion A) & 9 H ffEa § @ g 99F SR
(Reason R) & ®0 H;

YT A ;- T e et s B |

®RU R : a6 § JOF 3 & ol Toaiasaor &1 %9 sed ol ¢ |

SUded ®YF F AT B, T BT T Gedt § ¥ 999 Suged &1 994 S

(1) A 3RREH F@E IRR, A F 9 e §

(2) A R R EH 90§ @fea R, A 91 o8 oorem 781 &
(3) ATTE AfFTR smT 2

(4) AWaE UG RET R

1[Option ID=14573]
2[Option ID=14574]
3[Option ID=14575]
4[Option ID=14576]

SI. No.4
QBID:1554984

Identify the correct form of indirect speech of the following sentence.

The scientist said, "It gives me pleasure to be here this evening.

(1) The scientist said that it gave him pleasure to be here this evening.
(2) The scientist said that it gave me pleasure to be there this evening.
(3) The scientist said that it gave him pleasure to be there that evening.
(4) The scientist said that it never gave him pleasure to be there.
GUET BI el HiY [=se Tgan-g -

(1) ¥+ S

(2) BT+

(3) & + S

(4) g+ Sl

1[Option ID=14577]

2[Option ID=14578]

3[Option ID=14579]
4[Option ID=14580]

Sl. No.5
QBID:1554985




Rearrange the following parts of a sentence labelled as PQRS to make a
meamngful sentence :

P : the measure of the honesty
Q : you should listen to it carefully
R : your conscience 1s

S. of your hard work and

(1) QPRS

(2) P5RQ

(3) Q5SPR

(4) RPSQ

I feu T Tsi § © -1 v e a9 s § 2
(1) HAE @

(2) &g

(3) A

(4) 1§

1[Option ID=14581]
2[Option ID=14582]
3[Option ID=14583]
4[Option ID=14584]

Sl. No.6
QBID:1554986

Pick out the antonym of 'active’.
(1) smart

(2) superficial

(3) dormant

(4) domiating

Fofafeg oot + 98t 9 § @] -

AsTHaemaRe &

B. 3R 3% &7 ¥ forg

C. giesH w vefkfd gt ymafts
D. 9N SH-519 815 &d &

E. @ 5751 950 § Wl 40 B &

= feu v el # § 981 SO &1 909 SI -

(1) C.A.E.B3RD

(2) B.C.A.D3RE
(3)




E.B.D.C 3R A
(4) D.A.E.C 3R B

1[Option ID=14585]
2[Option ID=14586]
3[Option ID=14587]
4[Option ID=14588]

Sl. No.7
QBID:1554987

Pick out the meaning of the following idiom.

at the eleventh hour

(1) n the beginning

(2) m adverse circumstances
(3) at the last mmute

(4) after the event

FfafEa & § = o e Fifg -
(1) T3 Fel SR FF AR G 74T |
(2) TH - BB 3K 99 TR AF T |
(3) TH e R TF§ TR HE T4 |
(4) T Fa! X ¥ TR AE T |

1[Option ID=14589]
2[Option ID=14590]
3[Option ID=14591]
4[Option ID=14592]

Sl. No.8
QBID:1554988

Choose the correct passive voice from of the following sentence.

The children laughed at the funny looking man.

(1) The funny looking man was laughed by the children.
(2) The funny looking men were laughed at by the children.
(3) The funny looking man was laughed at by the children.
(4) The children never laughed at the funny lookimg man.




-1 F Y E-11 F1 e Si -

el 1 et 11
A, THETHHE Ee 1. HEER
B. Hi¥ @M 9@ II. ™
C. T HTH ome 1. o=y
D. el Afeal fhed & IV. S

9 feu o fawed # 9 981 IR &1 994 S
(1) A-IL B-I, C-III D-IV
(2) A-I, B-III, C-II. D-IV
(3) A-III B-I. C-IV, D-II
(4) A-IV, B-III, C-II, D-I
1[Option ID=14593]
2[Option ID=14594]

3[Option ID=14595]
4[Option ID=14596]

SI. No.9
QBID:1554989

Pick out the synonym of the following word.

bewilder
(1) retrieve

(2) baffle
(3) surpass
(4) Aannoy
g1 % T -1 &1 e S -
Tt 1 (<e8) it IT (afaardh
A, oy . &%
B. fe&am I @
C. oqu . @&
D. Yl IV. ¥y

Hid feu U famedi # 9 W1 I &1 997 Sl ;
(1) A-III. B-IV. C-II, D-I
(2) A-IV, B-III. C-I, D-II
(3) A-I, B-IV. C-II. D-III
(4) A-II, B-I, C-III. D-IV

1[Option ID=14597]
2[Option ID=14598]




3[Option ID=14599]
4[Option ID=14600]

Sl. No.10
QBID:15549810

Pick out the correct sentence.

(1) The sick person lay on the bed.
(2) The sick person laid on the bed.
(3) The sick person lay over the bed.
(4) The sick person lay in the bed.

Fofafaa & § deifaadl fafea ST -

A. T &1 SR SR 3 TiE 31 g
B. ToR-Htll SHFAT

C. 91 &1 =re e

D. 7 it 79 9@ B, 7 [T A

E. g 76t #§ T T

= feu 7o Gl # 9§ 98 ST &1 909 Si9 -

(1) B3RE
(2) C3RD
(3) B3RD
(4) AIRB

1[Option ID=14505]
2[Option ID=14506]
3[Option ID=14507]
4[Option ID=14508]

Sl. No.11
QBID:15549811

Match List I with List IT :

LIST I (Book) LIST II (Author)
Al The God of Small Things I Premchand
B. Midnight's Children II. Jhumpa Lahin
C. Godaan III.  |Salman Rushdie
D. The Namesake IV. |Arundhati Roy

Choose the correct answer from the option given below :

(1) A-IV, B-III, C-I. D-IT
(2) A-IV, B-III, C-II., D-I
(3) A-IV, B-1I, C-I, D-III
(4) A-IIL B-1V, C-II. D-I




YI-1 & F1Y YEI-11 DT H DI -
1 () S I (STE)
EEEE

A |GTIE HIE W@y I

B. |Hrescy faeH L |3 e
c. |meE L |[9aqH Sl
D. |[g7d® IV, |3r5EdiIg

Ad feu U fapedl § O el 3R &l 90+ Hifolu :
(1) A-IV, B-III, C-I. D-II

(2) A-IV, B-III, C-II. D-I

(3) A-IV, B-II. C-I., D-III

(4) A-III, B-IV, C-II. D-I

1[Option ID=14509]

2[Option ID=14510]

3[Option ID=14511]
4[Option ID=14512]

Sl. No.12
QBID:15549812

Which country did Indian team beat to win bronze medal at the 2022 Women's
Hockey Asia Cup ?

(1) Pakistan

(2) China

(3) Bangladesh

(4) SriLanka

o 9 T gm 3 o 2022 & Afeen @1 TR U & SiW 9e B wiad & HH H HRAK
& B g ?

(1) griEw

(2) 99

(3) s e

(4) dicisn

1[Option ID=14513]
2[Option ID=14514]

3[Option ID=14515]
4[Option ID=14516]

Sl. No.13
QBID:15549813




Which of the following statements are true regarding Hindi writer Premchand ?
A. His original name was Dhanpat Rai Srivastava.

B. He began writing under the pen name "Nawab Rai".

C. He was never bestowed with any awards.

D. He was a pioneer of Hmdi and Urdu social fiction.

Choose the correct answer from the option given below :
(1) A.B and D only

(2) A.B and C only

(3) A.B. C and D only

(4) A and B only

i dos wrds & IR § FEifGd S-S U 981 & ?

ﬁ.ﬁﬂﬂﬂcﬁmﬂ‘éﬁﬁ'ﬂﬂﬁﬁﬁﬁﬁml

B. 9% 984 $1 "9E 19" IUAM ¥ JF fF |

C. 3% @5 GEBR ol W gofl o7 |
D. @ fewdl oit 9g amifoe Syi-uifed & ofJar 4

i o o At # § 98 TR =1 97 i .
(1) HaA A, B 3R D

(2) FEAA, B AR C

(3) ¥ A, B. C 3R D

(4) Faa A R B

1[Option ID=14517]
2[Option ID=14518]
3[Option ID=14519]
4[Option ID=14520]

Sl. No.14
QBID:15549814




Which of the following works are written by Rabindranath Tagore ?
A. Chokher Bali

B. Gora

C. Kabuliwala

D. Ghare Baire

Choose the correct answer from the option given below :
(1) A.B. C and D only

(2) A and B only

(3) A and C only

(4) A.B and C only

fmifea & & $H-3 $fa Wemmw Tk gr fgg 2 2 2
A. T9rET ST

B. TR

C. BIgaiiaren
D. TY-amy

i feu 7o faswedi § 9 Hel 39X &1 904 S
(1) Had A, B, C iR D

(2) Faa A 3R B

(3) &aw A R C

(4) FFWA, B AR C

1[Option ID=14521]

2[Option ID=14522]

3[Option ID=14523]
4[Option ID=14524]

Sl. No.15
QBID:15549815

Which country has defeated the 14-time champions Indonesia to win the
Thomas Cup for the first time m 2022 ?

(1) South Korea

(2) North Korea

(3) Japan

(4) India




390 § -9 39 F 14 IR F1 IfgT SERRE S 50t usdl 91X 98 2022 F uHE %9
&1 fawar 541 2

(1) g s

(2) T =

(3) w9

(4) HEGT

1[Option ID=14525]

2[Option ID=14526]

3[Option ID=14527]
4[Option ID=14528]

Sl. No.16
QBID:15549816

A Statement is followed by two courses of action. Assume that everything in the
statement 1s true. On the basis of the statement decide which course of action
logically follows for pursuing.

Statement :

Durmg stock checking the auditors found that large number of weapons are
missing from the state police armoury. On mvestigation it was found that two
personnel are involved i the theft.

Course of action :

(1) A thorough investigation should be ordered to bring out all those involved in
the theft of the weapons.

(1) The security of the state armory should be improved.
(1) Only (1) follows

(2) Only (u) follows

(3) Neither (1) nor (1) follows

(4) Both (1) and (u) follows




U daacd & o1 & fibal - 94 feu gu 8 | w1 % aodey ¥ 99 75 9@ § | 960 & YR
R fufm Fifu & 9% I =9 § ER 9 R =F-91 fHo-9y sro=m e @iy 2

GESENE

HSR &1 Wid S 9Ag oEl-gig@! 3 U i e 9t IRarR § g8t dem
# iR @har § | Se-usard & 91 O Ual 9o 91 & 51 S 9fid § |

gy

%Wﬁﬁﬁmﬁaaﬁ@ﬁﬁaﬁaﬁ%ﬁwﬁwﬂﬁﬁ&m%mm
I

(ii) TT TREAFTR 1 GRET H R foan ST =0ee |

(1) Fa9 (i) T3 |

(2) a9 (i) FE 2 |

(3) (i) MRAH (i) W& |

(4) (i) 30 (if) S TS E |

1[Option ID=14529]
2[Option ID=14530]
3[Option ID=14531]
4[Option ID=14532]

Sl. No.17
QBID:15549817

Find the missing number

3, 714,23, 49
(1) 36
(2) 33
(3) 35
(4) 42
e &1 (5 gaen | e Se §ag |

3.0 14,23, . .49
(1) 36

(2) 33

(3) 35

(4) 42

1[Option ID=14533]

2[Option ID=14534]

3[Option ID=14535]
4[Option ID=14536]

Sl. No.18




QBID:15549818

ARk

6
T 19/ 10 ln
Male 12

13

14 Emploved

Doctors

1
Educated

In this question. the circle represents employed persons. triangle represents
educated persons, rectangle represents male, and the square represents Doctors.
The numbers are used to represent the area. Which area is represented by
Educated Employed Male Doctors.

(1) 1.4and 5
(2) 3.5and 8
(3) 8

(4) 8and 11

LI

femerd

59 UY § g0 AoFIR a1 sAfeadl &I Rl &, FyE Rifga cfeadl S gufar g, smaa o=l
&1 R & IR o Rafecs! 1 ofar 3 | faftm &=t & Jemeit @ feam = § | s
g7 WfEa I9 R 9 gF fafeas! &1 guifar g ?

(1) 1.4 3RS
(2) 3.53R8
3) 8

(4) g3R11




1[Option ID=14537]
2[Option ID=14538]
3[Option ID=14539]
4[Option ID=14540]

Sl. No.19
QBID:15549819

Find out wrong number m the given sequence of numbers

1,2,6,30, 210, 2310, 25410

(1) 210

(2) 30030

(3) 1890

(4) 30

HeEamatl & {4U U 3rg@d | e e 9dsy -

1,2, 6,30, 210, 2310, 25410
(1) 210
(2) 30030
(3) 1890
(4) 30
1[Option ID=14541]
2[Option ID=14542]

3[Option ID=14543]
4[Option ID=14544]

Sl. No.20
QBID:15549820

The following question has three intersecting circles I, S and P. Where I stands
fir Indians, Circle S stands for Scientists and circle P stands for Politicians.
Different regions of the figure are lettered a to g.

c | 7| |
_,.l-'r._' e
23 . wa .
r IJ - ;u-__. t -.1
T___ — ."|I
l'-_, g P

Which region represents non- Indian Politicians who are scientists ?
(1) only g

(2) gand f

(3) only f




(4) aandf

Faff@a uy A 1. S ok P i wia=sdl g9 & | 98l [ YRdll & g 8, 99 S el &
fo SR ga P oo & R vged o g | A & smerm 8l Sl a Qg dF &
3el ¥ SR TR

Li =]
=

BH-T1 87 TR YR Uit & S®iar & of 3mte 8 2
(1) #ad g
(2) g3 f
(3) Hau f
(4) g3 f

1[Option ID=14549]
2[Option ID=14550]
3[Option ID=14551]
4[Option ID=14552]

Sl. No.21
QBID:15549821

If 15% of A is equal to 20% of B, then 20% of A is equal to what percentage of
B.

| )
L

=
=

(1)

=1
(=R

ke
[

(2)

| ]
e |
[ b o] b | ba W | b

=
=

-
=

(3)

~
»
~
(]
s ]

=
=
How

15% B & 20% & SUET & df A &1 20% B & f&a+ % & su= g |

=1
=

~

[y
~
|
L

-
=

k-
[

(2)

[
e |
| b | k2 | k2

-
=

(3)




(4)

1[Option ID=14553]
2[Option ID=14554]
3[Option ID=14555]
4[Option ID=14556]

Sl. No.22
QBID:15549822

FPA)=05 P(B)=07. P(A~B)=03
then P(A _B)=7?

(1) 0.8

(2) 0.7

(3) 0.9

(4) 0.6

afd P(A)=05. PB)=07. P(AnB)=03
a9 P(AUB)=17

(1) 0.8

(2) 0.7

(3) 0.9

(4) 0.6

1[Option ID=14557]

2[Option ID=14558]

3[Option ID=14559]
4[Option ID=14560]

Sl. No.23
QBID:15549823

A. x+y=2,2x+ 3y =3 has umque solution.
B. x +y=2, x+ 2y = 2 has no solution.

C. x + 2y =2, 2x + 4y = 5 has no solution.

D. x +y=2, 2x + 2y = 4 has mfimite solution.
E. x + y=10, x — y = 0 has mfinite solution.

Choose the correct answer from the options given below :
(1) A, B. C are correct
(2) A. C.D are correct
3) B. C. D are correct
(4) A.C.D are correct




A x+y=2,2x+3y=3F 1% Agda 5o & |
B. x+y=2,x+2y=2@ &R c0 e & |

C. x+2y=2,2x+4y=5FFE s T2 |
D. x+y=2,2x+2y=4% 3Facac |
E.x+y=0,x—y=0F Fa50% |

= fau 7o fawcaf § 9§ 91 3T &1 907 Sifa -
(1) FTa A, B, C
(2) #@W A, C.D
(3) #au B.C.D
(4) FA@ A, C.D

1[Option ID=14561]
2[Option ID=14562]
3[Option ID=14563]
4[Option ID=14564]

Sl. No.24
QBID:15549824

Given below are two statements :

Statement I : Number of arrangements of the word "INDEPENDENCE" are
1663200.

Statement I : Number of arrangements of the word "INDEPENDENCE" which
straits with "P" is 138620.

In the light of the above statements. choose the correct most appropriate answer
from the options given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II 15 mcorrect
(4) Statement I 15 incorrect but Statement II 1s correct

fRasrERume-
%Y= | : ¥ "INDEPENDENCE" & esi &1 fg=urersem 1663200 & |

%ﬂr—! I1 : o5 "INDEPENDENCE" & "P" ¥ ¥ & aIt! ¥edf &1 fe-ars@m 138620
[

SUdad FYA & Hee §, i 3y U el § § 99w Suged &1 994 Sif
(1)




Sy [ AR 1 g4 98
(2) FYHI SR A a5
(3) wvH I WEl & Qe sy I1 7Tad &
(4) FE[TEE AFT A [ R 2

1[Option ID=14565]
2[Option ID=14566]
3[Option ID=14567]
4[Option ID=14568]

Sl. No.25
QBID:15549825

Given below are two statements :

Statement I : A coin tossed 4 times. Number of possible element in sample space
is 32.

Statement IT : A dice is thrown 3 times. Number of possible elements in a sample
space 1s 216.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement IT is false

(4) Statement I 15 false but Statement IT 15 true

dedisuafeum® .

F24 | - U 5 &1 9N 91 IS 91 © | 39 uidesl gafp & gurfag agodi #1 g
327

FUTI] : UF U &1 3 91 s Wil & | 391 uiaes! nly § dwifeg a@odl & 9@ 216

B
SUdad FYH & aeie §, 1 3y U el ¥ § 999 Suged W &1 904 S ;

(1) Hu= [ 3R 11 i 981 &
(2) ®¥F [ R 11 aFf Tod &
(3) FUF [ TEl & Wb sYF Il Tod &
(4) FHITad g, AfeT U I TS 2

1[Option ID=14569]
2[Option ID=14570]
3[Option ID=14571]
4[Option ID=14572]

Sl. No.26
QBID:1314641

The characteristic features of the cell wall of the plant cells are:
(1) Rigid and semi permeable membrane

(2) Composed of cellulose

(3) Living membrane

(4) All of the above




BEEES gyl O Si=msl & o il 3t foivane o I 82
(1) H=t Td 3 U
(2) eEw 9 i
(3) wifga i

(4) 3uftfEg o

1[Option ID=13901]
2[Option ID=13902]
3[Option ID=13903]
4[Option ID=13904]

Sl. No.27
QBID:1314642

Soil quality can be enhanced by which of the following
(1) Increased use of organic matter

(2) Reduce tillage

(3) Prevent soil compaction

(4) All of the above

Ha1 &1 uE 9 # 9 5T 9 Sg15 o 9%l o7

(1) ®EHS HFaT B A&USE TEr

(2) Hifea oo

(3) &1 O B AF

(4) Sodaa i

1[Option ID=13945]
2[Option ID=13946]
3[Option ID=13947]
4[Option ID=13948]

Sl. No.28
QBID:1314643

Which of the following mango variety is suitable for high density planting :
(1) Mallika

(2) Amrapali

(3) Dashehari

(4) Langara

T H ¥ am 1 $ 9 ueita 999 aFEHEl & 7Y 39 |

(1) HiTas

(2) 3rguTEl

(3) EEd

(4) =T

1[Option ID=13989]
2[Option ID=13990]




3[Option ID=13991]
4[Option ID=13992]

Sl. No.29
QBID:1314644

Abaxial surface of leaves have microscopic pores in the epidermis which are

called

(1) Trichomes
(2) Lenticels

(3) Stomata

(4) None of the above
it & e gae W e 90 95 9E & 0 FEd &

(1) TEaE
(2) w=<raa
(3) =He
(4) 79 9 FE 781
1[Option ID=14033]
2[Option ID=14034]

3[Option ID=14035]
4[Option ID=14036]

Sl. No.30
QBID:1314645

Which of the following has the highest rate of photosynthesis:
(1) CAM plants

(2) C; plants

(3) C,4 plants

(4) None of the above

e H ¥ 59 ver & iyl # g dueae #1 e 9 e gidt 8
(1) CAM W

(2) C4 iy

3) C, gy

(4) T A SIS T

1[Option ID=14077]
2[Option ID=14078]
3[Option ID=14079]
4[Option ID=14080]

SI. No.31
QBID:1314646

'Indira Madhur' 1s a variety released from Chattisgarh for which of the following
crops

(1) Sweet potato

(2) Turnip




(3) Colocasia

(4) Muskmelon

wdlaTe @ Fred S Ay few Pe § @ ool aws &
(1) THEE=

(2) TEH

(3) SRE/gEa

(4) TG

1[Option ID=14121]

2[Option ID=14122]

3[Option ID=14123]
4[Option ID=14124]

Sl. No.32
QBID:1314647

Strawberry 1s propagated by
(1) Stolons
(2) Offzets
(3) Runners

(4) Herbaceous cuttings

wrad g # 9 few fafy @ vafda &t ot 22
(1) WA (&R

(2) SiTEHE (R

(3) T (FUR yF)

(4) TEREE @FE) FoH

1[Option ID=14165]
2[Option ID=14166]
3[Option ID=14167]
4[Option ID=14168]

Sl. No.33
QBID:1314648

Which of the following is the best example of the Mughal sytle of gardens
(1) Lal Bagh. Bengaluru

(2) Pinjore garden, Chandigarh

(3) Sikander Bagh. Lucknow

(4) None of the above

9 & 9 S 1 919 04 a1 &1 26 &1 969 33 Tiid 67
(1) T 9F, ST

(2) TOER aF, 9verTe

(3) THE<x 9W, @S

(4) AR A BE ol




1[Option ID=14193]
2[Option ID=14194]
3[Option ID=14195]
4[Option ID=14196]

Sl. No.34
QBID:1314649

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Genes are umts of nheritance

Reason R : They contain information that is required to express a particular trait
in an organism

In the light of the above statements. choose the most appropriate answer from
the options given below

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R i1s NOT the correct explanation A

(3) A is correct but R 1s not correct
(4) A is not correct but R 15 correct

7@ G FuA U T E : TF ofiEUA (Assertion A) F w9 A fifEa & f g S9S BRw
(Reason R) & FI &

afi@ A : o9 e 3 521 ©
DR R : wital # B A& ®1 sifieafad $1 g1 599 o sl

IWIE FYA & @S H, Hd 15U 70 [Fhedl | ¥ 99Y Iugad 3o 1 907 BT
(1) A JR R <HI T8 § SR R, A &1 981 o &
(2) A RREHE 6 & A R, A F1 96 e 6 &

(3) AT eI R eSS 2
(4) AT TR APTI R TSI 2

1[Option ID=14197]
2[Option ID=14198]
3[Option ID=14199]
4[Option ID=14200]

Sl. No.35
QBID:13146410




Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Some bacteria help the plant in absorption of essential nutrients from the soil while
the plants provide nutrition for the bacteria.

Reason R : Rhizobia are associations of bacteria and the leaves of higher plants.

In the light of the above statements, choose the meost appropriate answer from the options given
below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation A

(3) Ais correct but R is not correct

(4) A isnot correct but R is correct

H1 € FuE iU T TF fHFUF (Assertion A) F w0 H ffEd § & g0 99 RO
(Reason R) & &0 #

HUFYF A : TS oman] Uil F ga1 § Giee 99E ad 390 $I4 § 9e0S o & adl
e Sfarugsit 1 g0 2 F

&R R : Tguiiaan sianps v gisf @1 okt & &9 ue 99 o

SURIE HYA & 7S &, A fu MU fAsed! § 9 999 Iugad IR &1 994 B |

(1) A SR R S 981 & iR R, A ®1 98! oo &
(2) A 3R R SHi 981 & afeT R, A ® 9 e T8 8

(3) ATSizafEA R TS 9 &
(4) AT TRIcAFTIR TS 2

1[Option ID=13905]
2[Option ID=13906]
3[Option ID=13907]
4[Option ID=13908]

Sl. No.36
QBID:13146411

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Use of machines in farming is low in underdeveloped countries.

Reason R : The land holdings in densely populated countries is small and can be managed better
through manual labour.

In the light of the above statements, choose the meost appropriate answer from the options given
below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation A
(3) Ais correct but R is not correct

(4) A isnot correct but R is correct




1 g1 FyA €10 0 § - UF SHfHEUA (Assertion A) F U H [iTEa & o g 99F SR
(Reason R) & T4 #:

firmy A ; sfiwig 2= # 21 & 754t &1 &9 S5 e 7l

DR R : T99 TA9EI are o= § 9id S 8l & oyl 4 /awgd $ N Sgal S
F1 T TFdl B

IUTad HYF & 3Hdie H, A9 8T 70 fasedi § | 999 Iugad IR &1 99 S ;

(1) A SR R S 981 § IR R, A ®1 98! oo &
(2) A RREA 6 oA R, A 91 98 e 76 &

(3) AT eI R o8l & &
(4) AT I e AETIRTE 2

1[Option ID=13909]
2[Option ID=13910]
3[Option ID=13911]
4[Option ID=13912]

Sl. No.37
QBID:13146412

Grven below are two statements - one 15 labelled as Assertion A and the other is labelled as
Reason R

Assertion A : In dicecious papaya cultivars propagated through seeds, it is difficult to identify at
seeding stage whether the plant 1s a female or male plant.

Reason R : Among the sex chromosomes X chromosome is responsible for female expression
while ¥ chromosome is responsible for male expression.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation A

(3) Ais correct but R is not correct

(4) A isnot correct but R is correct

9 & Fy= U Y § - UF SfHFT (Assertion A) F w0 F ffEa € o gww 99 IR0

(Reason R) & F9 #:
Jfimpya A - S § vafila uafemedt afig &1 9y 8 % 3 Arer Qi Uge=-1 SieA

g 2
@RI R : &7 TRt & X oga § g1 @6 wd Y qongs ® ) R @ sifirefEa g 2
IR FYA & @S 1, A" 30 70 f[geel § 9 999 9ugead IR 1 909 BT

(1) ARREFATEZMRR, A ¥ a6 Irem 2

(2) A SRR EH T E dfET R, A 31 98 amen A8
(3) AT Z AP R G AET 2

(4) ASE e afFAREE ©

1[Option ID=13913]
2[Option ID=13914]




3[Option ID=13915]
4[Option ID=13916]

Sl. No.38
QBID:13146413

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - Approach grafting is a very successful technique for propagation in mango

Reason R : It is a cumbersome method since rootstock seedlings have to be carried to the
mother plant for grafting

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the cotrect explanation A
(3) A is correct but B is not correct

(4) A is not correct but R is correct

1 1 v fau T ¥ ; U@ ofieUT (Assertion A) F w0 ¥ fif¥a & o o 99 RO
(Reason R) & F7 &

sfimYy A : o & vadF 3 te 9w (Y He Faa @ie Tt 2

DR R : a9 didl B A1g 9t & 9609 @1 He 09 B giEy/sied edl 41 6l
SR BUA & AP H, Ad [GU T Aded] H § a9 Iugad IR &1 994 HIed ;

(1) A SRR SF 981 § iR R, A F1 981 &

(2) A SRR IETEE AFET R, A 7 9 o A6
(3) AT AfFIR G A2

(4) ATl R oFT R TG 2

1[Option ID=13917]
2[Option ID=13918]
3[Option ID=13919]
4[Option ID=13920]

Sl. No.39
QBID:13146414

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - Pinching in chrysanthemum results in a larger mmmber of flowers but the size of the
flowers is reduced.

Reason R : Removal of the apical bud by pinching results in development of more branches.

In the light of the above statements, choose the meost appropriate answer from the options given

below
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation A




(3) Ais correct but R is not correct

(4) A is not correct but R is correct

7@ 91 By T T ¥ : TP ofiEUA (Assertion A) F w9 A fiféa & o g o9S BRw
(Reason R) & FI &

siftmyA A ; TaeEd! # A @l | wal S ¥ # 9fE gt § ol oul &1 aeR
Biel gl ol &l

@R R : a4 (@@ & 99 $i i st e ot 8 fed 99 F mraet $1 gf& g 2
IUITd HYF & H[IS H, A4 26U T feedi § | 999 Iugad IR b1 99 Sl

(1) A SR R SHf 981 8 iR R, A ®1 981 oo &
(2) A RREHE 96 & A R, A F1 96 e TE &

(3) AT eI R TS TS 2
(4) AT TR AFTI R TSI 2

1[Option ID=13921]
2[Option ID=13922]
3[Option ID=13923]
4[Option ID=13924]

Sl. No.40
QBID:13146415

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - Cultivation of banana can help to reduce the demand for #rrigation water,

Reason R : Cultivation of less water demanding crops grown in dry regions can reduce trrigation
water demand.

In the light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation A

(3) Ais true but R is false

(4) Aisfalse but R is true

2 @1 By U T ¥ : T ofiEUA (Assertion A) F w0 A fifEa & o v sus snw
(Reason R) & F9 & .

fmY= A : 0 B Tl R $ oy urt $1 36 B1 9o # Were § el 8l

DR R : Y 431 & U S HH AN G Badl S 3 ° g & /g o S A S

&H foar o1 9o 2
SUdad ®YF & AHeE 1, A G T et § ¥ 999 Iugad So) #1994 i

(1) A SRR EH TE ¢ #R R, A F1 9 & &

(2) A R R EH T & dfET R, A F1 9 arem A€
(3) ATz RO AT 2

(4) ATS TR AFTRIE R

1[Option ID=13925]




2[Option ID=13926]
3[Option ID=13927]
4[Option ID=13928]

Sl. No.41
QBID:13146416

Grven below are two statements - one 15 labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Conservation of wild varieties of cultivated species is a pre-requisite for breeding
programs.

Reason R : Fitis rupestris is resistant to nematodes in grapes.

In the light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation A

(3) Aistrue but R is false

(4) Aisfalse but R is true

#1231 FY= Gy T ¥ : UF SfUFUT (Assertion A) F w9 F fafla @ O g 39 RO

(Reason R) & 7 &
sfimya A - GFiyg uerfagl & v & fow 39t Selt uerfaat &1 |5eamr seegs g

H
DR R : 3R $1 aifed oy g s & o ufoid 21
SUEd BYA F AMAE |, 44 S8 U Al # ¥ 98l 9t #1 904 S

(1) A SRR A 9@ SR R, A &1 981 &= &

(2) A JR R I 93§ AT R, A F1 98 ayrem 781 2
(3) ATUEAFEIR 39T &

(4 ATz REER

1[Option ID=13929]
2[Option ID=13930]
3[Option ID=13931]
4[Option ID=13932]

Sl. No.42
QBID:13146417

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - Strawberry can be cultivated successfully even in the subtropical regions of India.

Reason R : Day neutral varieties developed in Fragaria X annanasa have revolutionized
strawberry farming.

In the light of the above statements, choose the correct answer from the options given below
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation A




(3) Ais true but R is false
(4) A isfalse but R is true

7@ 91 By T T ¥ : TP ofiEUA (Assertion A) F w9 A fiféa & o g o9S BRw
(Reason R) & FI &

Sty A - yRa & 3o g3 7+t el 1 wdt shaagds $t o gadl 3

BRI R ; BN X SEERT &I Gy Ry ueiadl & [9e A TERl sl gdl | il
Tt B

IWRlEd FYA & e H, i f3u 10 el 9 95 39 &1 999 S ;

(1) A SRR EF 9@ E R R, A & 981 =1 &

(2) A IR R T@E AT R, A F1 98 = T8 8
(3) ATTE AFETR T T

(4) ATE AFARTTR

1[Option ID=13933]
2[Option ID=13934]
3[Option ID=13935]
4[Option ID=13936]

Sl. No.43
QBID:13146418

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Younger leaves of cucumber plants show chlorosis if they are suffering from
nitgrogen (IN) deficiency.

Reason R : Nitrogen is a mobile element within the plant system and can be easily
retranslocated from older leaves to younger leaves.

In the light of the above statements, choose the correct answer from the options given below
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation A

(3) Ais true but R is false

(4) Aisfalse but R is true

2 @1 By U T ¥ : T ofiEUA (Assertion A) F w0 A fifEa & o v sus snw
(Reason R) & FI & .

@Y A ; AECioA da & FH 9 G & 9 i genAdE gkl 9t s et 2
@R R : Uil # A5ciod U@ AEiga (Iosie) 9 ¢ a9 QO 9l a0 ([@dE) aiwt
&I TN O WA 51 9l ol

S FYF F A@iF H, " QU M0 fdeel # 9 ¥5l 3T F1 994 S

(1) A SR R SFf 9@ § SR R, A &1 98! @ @

(2) A 3R R &H 9@ & @fFT R, A 31 981 oarem 781 &
(3) ATHR U R A&

(4) ATe AfEARTTR




1[Option ID=13937]
2[Option ID=13938]
3[Option ID=13939]
4[Option ID=13940]

Sl. No.44
QBID:13146419

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - Pollen grains mav be transferred by wind, animals, insects or water.

Reason R : Pollination is the transfer of pollen grain from the anther of a flowers to stigma of the
same or another flower.

In the light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation A

(3) Ais true but R is false

(4) A isfalse but R is true

1 21 Fu f4U 0 § : UF YA (Assertion A) F U H 84 § O g 99% RO
(Reason R) & &9 #:

YA A ; WF S0 g9, U, Slef 19 Ul & 71 ¥ ®EFNG ol ol

DR R : T Fd & WS (TRR) ¥ 391 T1 g Fdl & sl 9 WH S0 &

R &1 WA F8d 2
TG BYA & A | 41 feu v Aea! § 9 95 9w &1 909 Sifen

(1) A SRR IF 9@ E AR R, A ! 981 A 7

(2) A SR RTH T@E A R, A &1 981 orem 981 &
(3) ATHR AR sET

(4) AEde deARITE

1[Option ID=13941]
2[Option ID=13942]
3[Option ID=13943]
4[Option ID=13944]

Sl. No.45
QBID:13146420

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : The chashm-e-shahi in Stinagar, Kashmir is an excellent example of the Mughal

gardens.

Reason K : The basic principle of the Mughal styvle of gardens is that they follow complete
symmetry in their design.

In the light of the above statements, choose the correct answer from the options given below




(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation A

(3) Ais true but R is false

(4) Aisfalse but R is true

#1931 FYF Gy T § : TF AfUFYF (Assertion A) & w9 H fafEd § O gE0 99 RO
(Reason R) & F9 #:

sftmyq A ;- SR o § 9v0-u-wng god anl &1 9 $1 399 Sere &l

@R R : T &R &1 2l &1 g2 e & 5 39%1 9ieeg=g0ET # quid: [asgadl

BIdil &
IUIed FYA F AMAE |, 41 B U el 7 9 98 9T 1 909 S

(1) A 3R R SHf 9@ € SR R, A &' 98 arrem 2

(2) A 3R R EH 9@ § @9 R, A $1 581 oarem 781 &
(3) ATHR UFAR s ®

(4) ATe AT RIT 2

1[Option ID=13949]
2[Option ID=13950]
3[Option ID=13951]
4[Option ID=13952]

Sl. No.46
QBID:13146421

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A - When fiuits and vegetables are stored below freezing point then they lose firmness
and become water soaked.

Reason R : Freeze injury is because of the formation of ice crystals in the tissue which damages
the cell walls and canse fiuits and vegetables to become soggy after thawing.

In the light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation A

(3) Ais true but R is false

(4) A isfalse but R is true

9 @1 Hy QU T ¥ : UF ofiEUA (Assertion A) & w0 H fifEa o guw 99s BR
(Reason R) & &9 #: .

Sy A : fediis (pifET) fig @ i yTsRY &3 W % ud Fiswdl o gegar @
Bd 7 auT sifaféed @ 8 o 2
WR:%Wﬂiaﬂqwaﬂﬁﬂﬁﬁsmﬁm%aﬂﬁﬂmaﬁaﬁﬁaﬁwﬁﬁaﬁ
sifer og=edl & o as o fuaes sifafea @ 6 o 2

Iuiiad ®YH & HTlE 0, Hid f3U U Geed! § 9 98l ST &1 994 S

(1) A SRR A 9@ SR R, A &1 981 &= &
(2) A SRR M 9@ € df R, A 91 98 e 761 &




3) Ague iR =T
(4) AU A RIT S

1[Option ID=13953]
2[Option ID=13954]
3[Option ID=13955]
4[Option ID=13956]

Sl. No.47
QBID:13146422

Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : When plants are spraved with Gibberellins (GA ;) they increase in diameter and
become stunted.

Reason R : GA; causes internodal elongation and thus increases plant height.

In the light of the above statements, choose the correct answer from the options given below
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation A

(3) Ais true but R is false

(4) Aisfalse but R is true

2 @1 By U T ¥ : T ofiEUA (Assertion A) F w0 A fifEa & o v sus snw
(Reason R) & F9 &

sifirmyA A : 78 didf R fefeE (GA3) fose o1a1 & @1 5991 o019 9¢ odl & aY1 98
& g o1 &

ORY R : 58eE &1 fegea gewisy ©d & o) 1 wars gel ool @ o disf 2
3918 ¢ 9t B

SR BUA & AP |, g (6T T fGeed] H | Fgl IR &1 9949 B ;

(1) ANRNREFITEE IR R, A F Fe aare &

(2) A R R THI 9@ § @ R, A 91 9l o 781 2

(3) ATTE fF R s30T E

(4) ANOe AFETRIT®

1[Option ID=13957]
2[Option ID=13958]
3[Option ID=13959]
4[Option ID=13960]

Sl. No.48
QBID:13146423




Given below are two statements - one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Date palm is an example of monocoteledonous fruit plants.
Reason R : Seeds of monocotyledonous plants have only one cotyledon.

In the light of the above statements, choose the correct answer from the options given below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation A

(3) Aistrue but R is false

(4) Aisfalse but R is true

#r €1 FyF fRu U ¥ : U fiF (Assertion A) ¥ w0 H fafed 2 & gEv 396 RO
(Reason R) & &9 #:

fi@mYA A - W TS Bal &1 IeE &l

TR R : TesogE! 9ef & 91 § $9a IS Shoud (@leles) il ol
JUIEd BYA & A 8, 59 2 1 faeea! # ¥ 9nl 9 ®1 904 S ¢

(1) A SRR A 9@ SR R, A &1 981 &= &

(2) A R REHTTE FT R, A F1 981 e T8 8
(3) ATWE AfFAR 30T

(4) AEae dfEdIRITT

1[Option ID=13961]
2[Option ID=13962]
3[Option ID=13963]
4[Option ID=13964]

Sl. No.49
QBID:13146424

Arrange the following statements in correct order, as per their happening from
mitiation to the last stage:

A. Artificial hybridization is used for breeding new varieties in vegetables.
B. Bagging of emasculated flowers

C. Fruits are allowed to develop

D. Emasculation of bisexual female parent

E. Dusting mature pollen grains on stigma of bagged flower

Choose the correct answer from the options given below :
1) AB.C.D.E
2) D.B.C.A. E
3) A.D.B.E.C
4) B.D.C.E. A




Fofoieg =y & 981 39 &1 (39 94 & TR ¥ =<8 =0 dF) 9099 S0

A. FEW IS0 &1 yaE afesrdt St 35 vwita g9 H a5 w2

B. Usaeld ghTgaics) Bal &1 Ueie<o Sl
C. ®atl ® Tfag 59 o o 2

D. f&feft arer gl =1 Y&ag0 GaHeEm)|
E. 9R9® R &0 & Ul & &5 Hal | s/ fese|

o feu U Aol & § 981 TR @1 904 B ;
1) A.B,.C.D.E

(2) B, C,AE

3) A,D.B.E.C

4) B.D.C.E. A

1[Option ID=13965]
2[Option ID=13966]

3[Option ID=13967]
4[Option ID=13968]

Sl. No.50
QBID:13146425

Arrange the following statements of Mendal's law in correct sequence:

A. F, generation resembled any one of the parents only for character under
study.

. Gregor Mendal conducted hybridization experiments in Garden peas

. Upon self pollination of F; plants character not seen in F; was expressed
1:3 ratio.

D. He propounded law of dominance

E. He propounded law of segregation.

MW

Choose the correct answer from the options given below :
(1) A.B.C.D.E
) B.AD C.E
3) EED.C.B.A
4) C.D.A.B.E

Hesu & FHoargeR Huiafed sy 1 393 uidd 549 & $A (@F ¥ o< d%) # 994
S

A. F, Uil it o arfterern & forg uss gl sifiyiae & o= ! o)

B. IR He § HX H HF0 & WG F

C. F, Uil & SauRrm S F, 4l & wamn &1 ol &9 =61 fewn o1 95 1:3 & Sfgurd o
fearg e

D. 3% st &1 fagra va a1l

E. 5% SUrEF &1 g e f&an

9 feu v fGeal # 9 981 ST &1 907 Sio -




(1) AB.C.D.E
2) B.A.D.C.E
3) EED.C.B.A
4) C.D.A.B.E
1[Option ID=13969]
2[Option ID=13970]

3[Option ID=13971]
4[Option ID=13972]

Sl. No.51
QBID:13146426

Write down the correct sequence of Mughal stage of gardening of the following
statements:

A. The Mughal style of gardening was extended from the 'Char Bagh' design
from Persia.

B. Garden plot i1s divided into four equal plots.

C. Water channel i1s provided in center with fountains.

D. Basic plan of garden is extended into terraces.

E. Gardens are protected by strong protective wall.

Choose the correct answer from the options given below:
1) D.AC.E.B
2) A,E.D. B, C
3) AE D C.B
) A.B.C.D.E

T Sl & S 9 S FERiEd YA ®1 39 gicd o & A § farad |

A. TTe 2l & 7 BRY (G3F) & 9R GFT | )
B. 91 &1 IR 98+ yF § fawfea fear wma gl

C. Ut &1 Fa @ifesn) & foms diafdy wear g 21
D. SF &1 59 T ieieR §41% oidl 2l

E. 97 &1 UF Yeg alaR | qiga faar o g

i fou U fawedl & § 981 ST &1 9949 SIvg ;
1) DALC.E.B
2) A,E.D.B.C
3) AEDC.B
@) A.B,.C.D.E
1[Option ID=13973]
2[Option ID=13974]

3[Option ID=13975]
4[Option ID=13976]

Sl. No.52
QBID:13146427




Arrange the correct sequence from the following statements for jelly making:

A. Extract is boiled till it reaches end point and a TSS of 65° B.

B.
C.
D.
E.

Addition of sugar and pectin to the extract is done as per requirement.
Fruit extract is filtered and analysed for solube solids and pectin.
Fruits are cut mnto places and boiled to obtain fruit extract.

Healthy. disease and pest free fruits of uniform maturity are selected.

Choose the correct answer from the options given below:
1) E.D.C.B. A
(2) A;B,C.D,E
3) EED.C.A B
4) C.D.E.B. A

FaftEa syl =1 o Ao 31 e § 95 5 F e

A. 0 & F=pY0 &1 38 " f§g a% au1 65° B TSS & &l ol &l

B.
.
1.
E.

HAEHATIR 91 srar Ufdes sy feman o 2

e & (ERYU ] B 9Idl & aUl gO-sTa o149 § Ufaed &1 T0E1 &1 widl g
Hell B Bl HFT & BIE S 36T HE U &3 & U IS ol 3l
W=, I 9 Bie Ued, §9H IROHd & B 99-d &4 o &l

i feu v fowedf § © 98! SR &1 9949 SV ;
) E.D.C.B.A
(2) A.B.C.D.E
3) EED.C.A B
4) C.D.E.B. A

1[Option ID=13977]
2[Option ID=13978]
3[Option ID=13979]
4[Option ID=13980]

Sl. No.53
QBID:13146428

Select the correct sequential order for making vermicompost.

SNnw =

sl

. Earthworms are moculated into the mixture which 15 then covered from

above.

. The material 1s collected mto a pile and left for 10-15 days to begm rotting.
. Kitchen and garden waste are shred into smaller pieces.
. Partially rotted mixture 1s filled in raised pits and watered until it 1s

uniformly wet.

. These are mixed with rotted farm yard manure to obtain a 1:3 C/N ratio.

Choose the correct answer from the options given below :
(1) A.D.C.B.E




(2) B.A.D.C.E
3) C.E.B.D. A
a) C,A.D.B.E

+U FI GG [@HSHRE) T & 41 & F6l HHES 990 S 904 S ;

A. T # Fau viorifia &3 & S 39 & foun & 2

B. Teil #1 U g1 § UeHd &4F 10-15 &4 F {w 954 & fom 3 o 2

C. T915 U9 IgH R $i BIC B THe! H HIel olldl o

D. 8% ¥4 ¥ 93 [y S 910 70 Tgel § W & UF FHE =9 9 g § witan faan
W 21

E. 1:3 FE4/ATScoM U 99 F 30 33« 981 Ta #1 |1 F 91y i o g

i feu U fawedl & © 981 SR &1 994 SIVE
(1) A.D.C.B.E
) B.AD C.E
3) CLE.B.D. A
@) CLA.D.B.E
1[Option ID=13981]
2[Option ID=13982]

3[Option ID=13983]
4[Option ID=13984]

Sl. No.54
QBID:13146429

Choose the correct order of statements in the development of embryo:

A. The male gamete fuses with the egg cell to undergo fertilization to form

zygote.
B. Pollen gramns produced m anther are transferred to stigma during

pollination.

C. Pollen tube reaches the ovary and releases the male gametes into embryo
sac through micropyle.

D. Pollen grams germinate on stigma and travel in the pollen tube through the

style.
E. This zygote develops mto the embryo.

Choose the correct answer from the options given below :
(1) A,D.C.B.E
) D.C.A.E.B
(3) B.D.C.A.E
a) C.A.E.B.D




YOI & T Uihd] & Hal HHEE o0 &1 999 S|

A.;W&Eﬁﬁm%ﬁﬁﬁﬁﬁﬁﬁﬁﬁamﬁﬁwwﬂaw
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B. WFHN § 3aF WA S0 = & 999 afaerd W™ RN 5 8

C. i1 SR 0 Ugd S ASHIUET 4 - GHS! &1 YOHE § 7ad Sl ¢l

D. TR & e U HFHd Gt W ([ e@) & et aiisl § SHuEid s
=

E. T Yo § fasfaa gan 31

o feu U Aol & § 981 TR @1 994 HIvd
1) AD.C.B.E
) D.C.A.E.B
3) B,D,C.AE
a) C.A.E.B.D
1[Option ID=13985]
2[Option ID=13986]

3[Option ID=13987]
4[Option ID=13988]

Sl. No.55
QBID:13146430

Given below are two statements :
Statement I : Dryimng is the oldest method of preservation known to humans.

Statement II : Microbial activity mcreases due to the low moisture content in
dried products.

In the light of the above statements. choose the most appropriate answer from
the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I i1s correct but Statement II 1s mcorrect
(4) Statement I is incorrect but Statement II 1s correct

i &1 s Ry M

FYA | : IFE 31 THSRI & FJAR, TR &1 Faiids wh- & - ga@mEr gl

HUA [[ : @ hRiEa el d 9 74 & 93 5 ¥ e sanst &1 fafafial sg e 3l
JUiad FYH & HlS H, Hid U U Ghedi # 9 gad 3ugad I $1 994 ST ;

(1) Hu [ R 11 i 981 &
(2) ®¥F [ R 11 &Ff Tod &
(3) &Y= [ Wl & Aftew By I TToa &
(4) FY]Tad &, AfeT U I TS 2

1[Option ID=13993]




2[Option ID=13994]
3[Option ID=13995]
4[Option ID=13996]

Sl. No.56
QBID:13146431

Grven below are two statements :

Statement [ - When the rootstock and the scion do not form a union it results in graft
incompatibility

Statement [T - Meristematic cells do not intermingle at the union becaunse of which grafting
operation is not successful

In the light of the above statements, choose the meost appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement I1 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

TR FE T E;

®Y [ ; JOgd aul g} 90 | uE e (@aH) Tol ol @ 99 Bad SETd S ol
FY [[ : 9T R Al Ales ([Gu=gias) SR U gas § faatia el o 9l & foed
BRI HTH B B Wil SHHd & ol &

IUiad HYH & ATlE 6, Hld 30 U Gead! § 9 9ad Iuyed I &1 904 SIfl

(1) == [ 3R 11 241 981 &
(2) &A1 R 11 eFf Tod &
(3) &Y= [ Wl & Aftew sy 11 7Toa &
(4) T TOa e, AfeT ST I 981 &

1[Option ID=13997]
2[Option ID=13998]
3[Option ID=13999]
4[Option ID=14000]

Sl. No.57
QBID:13146432

Self pollination is also termed as
(1) Anemophylly

(2) Allogamy

(3) Hydrophylly

(4) Autogamy

AU 1 IR ATH &1 87

(1) SR (GRURIT)

(2) gEmH (R

(3) TSGR (FaeRTTo




(4) e GasgEn)

1[Option ID=14001]
2[Option ID=14002]
3[Option ID=14003]
4[Option ID=14004]

Sl. No.58
QBID:13146433

Given below are two statements -
Statement I : Yeast is a mmlticellular fungi.
Statement II - Yeast is responsible for fermentation in juices.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement ] is incorrect but Statement I is correct

Je sy fRumE

®YH | ; TR (@) U6 SgHEg $9 ¢l

Y 11 : T &1 e ulpar ¥ oo =ik fomier g 21

IUiad YA & AHTlE 6, Fd 30 U Geed! § 9 9ad Iuged ST &1 904 SIl

(1) == [ 3R 11 241 981 &
(2) &A1 R 11 eFf Tod &
(3) &Y= [ Wl & Aftew sy 11 7Toa &
(4) T TOa e, AfeT ST I 981 &

1[Option ID=14005]
2[Option ID=14006]
3[Option ID=14007]
4[Option ID=14008]

Sl. No.59
QBID:13146434

Given below are two statements -
Statement [ - 2, 3, 5 - triphenyltetrazolimm chloride is commonly used to test the viability of seeds.
Statement I - When soaked in tetrazolium chloride seeds with viable embryo turn green in colour.

In the light of the above statements, choose the meost appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement I1 is incorrect

(4) Statement I is incorrect but Statement IT is correct




Je sy Ry mE

YT : 2, 3, 5 - CEFAGOCINCTOH FINGS JHFG: Sid S L0 &A1 ([@FiEiee)
&1 9T@dl &l

HYA I1 : SelTergd FaRigs H iRl 92 Siifad YOl 83X 1 &1 &1 ol &

SWRIaGd ®YH & HTIE B, Aid U TE GFed! # 9 Had IUYad S &1 997 HIT

(1) Fu= 1 R 11 21 981 &
(2) Y AR e Toa &
(3) BF[ T T AT s I T &
(4) &Y= [ 70 &, Qi sy 1T 981 &

1[Option ID=14009]
2[Option ID=14010]
3[Option ID=14011]
4[Option ID=14012]

Sl. No.60
QBID:13146435

Which of the following is the major source of agricultural water pollution
(1) Excessive use of fertilizers

(2) Use of agro-chemicals

(3) Agricultural runoff

(4) All of the above

Fofafas § @ 1 w1 3 § Iugs -t & Wgu 1 99 82

(1) et &1 i vam

(2) HIY-THGAT F1 Ugn

(3) P T TEE

(4) S9dad o

1[Option ID=14013]
2[Option ID=14014]
3[Option ID=14015]
4[Option ID=14016]

Sl. No.61
QBID:13146436

Which of the following is a variety of Sapota
(1) Bappakai

(2) Kalipatti

(3) Nendran

(4) Washington navel

frafefaa # @ a5 @ 9 & vonfa &2

(1) TS

(2) SIeE

(3) F=H




(4) TR aqd

1[Option ID=14017]
2[Option ID=14018]
3[Option ID=14019]
4[Option ID=14020]

Sl. No.62
QBID:13146437

Which of the following 1s a method of micropropagation
(1) Callus culture

(2) Meristem culture

(3) Embryo culture

(4) All of the above

e S e @ g ve &1 A &

(1) &og Heak

(2) #iEH TN

(3) YUT (I%El) HeR

(4) Soiaa i

1[Option ID=14021]
2[Option ID=14022]
3[Option ID=14023]
4[Option ID=14024]

Sl. No.63
QBID:13146438

Which of the following i1s not a component of DNA
(1) Uracil

(2) Adenine

(3) Cytosine

(4) Guanine

Fofafed § § ®F 91 1030 F1 J9eS 8 67
(1) IR

(2) TsaH

(3) WEERH

(4) A

1[Option ID=14025]

2[Option ID=14026]

3[Option ID=14027]
4[Option ID=14028]

Sl. No.64
QBID:13146439

Which of the following is the major light absorbing pigment in plants

(1) Carotenoids




(2) Chlorophyll

(3) Anthocyanins

(4) Xanthophylls

faffaa § 9@ & il 8 U@ ¥4 9 TS $ S@Riihd s a1 aiis (=) &7
(1) FfEAEs

(2) TR

(3) T

(4) SRifET

1[Option ID=14029]
2[Option ID=14030]
3[Option ID=14031]
4[Option ID=14032]

Sl. No.65
QBID:13146440

Which of the following tree has blue coloured flowers and blooms m summer
(1) Delonix regia

(2) Grevillea robusta

(3) Jacaranda mimosifolia

(4) Plumeria alba

FE®E 9 s § T g # 9 W F Ba o 8

(1) =afeg fefem

(2) Ffafern As=T

(3) SEvel AEAMIE IR

(4) wHRET e

1[Option ID=14037]
2[Option ID=14038]
3[Option ID=14039]
4[Option ID=14040]

Sl. No.66
QBID:13146441

Swarna Uphar 1s a variety of which of the following
(1) Bottle gourd

(2) Pomted gourd

(3) Ridge gourd

(4) Smooth gourd

ffeiEa # 9 s 3 geoll 31 g a0 S9ER &7

(1) st
(2) 939d

(3) yiiER de




(4) e drs

1[Option ID=14041]
2[Option ID=14042]
3[Option ID=14043]
4[Option ID=14044]

Sl. No.67
QBID:13146442

What ig the principal on which the zero energy cool chamber works ?
(1) Refrigeration

(2) Dehydration

(3) Evaporative cooling

(4) None of the above

T FHoll 2 8 @R Tl ou 9wy e e ) a1 s a7

(1) yEiicie o e

(2) FeidiE

(3) TreIUE HiaaH

(4) oY H F PIx Tl

1[Option ID=14045]
2[Option ID=14046]
3[Option ID=14047]
4[Option ID=14048]

Sl. No.68
QBID:13146443

Match List I with List IT

LISTI LISTII
A | Morus alba L Solanaceae
B. |Lagenaria siceraria II. [Cucurbitaceae
C. Lvecopersicum I Pt
esciulentim
D |Phoenix dactvlifera IV. |Moraceae

Choose the correct answer from the options given below:
(1) A-L B-II, C-III, D-IV
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-II, C-I. D-ITI
(4) A-III. B-1. C-II. D-IV




Il 11 gl 11 U e wifore
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A |ARY 3@En I [l

B. [CiSi-iar g I |[Ghfacd

i 5355 RIS I |greHt

S NE
D. |®BifHe SaFeEand v [\
Frefaiad faeedl & 4 el 3 &1 99 Il

(1) A-L B-II, C-III. D-IV
(2) A-IV, B-III, C-II, D-I
(3) A-IV, B-1I, C-I, D-III
(4) A-III, B-1. C-II, D-IV
1[Option ID=14049]
2[Option ID=14050]

3[Option ID=14051]
4[Option ID=14052]

Sl. No.69
QBID:13146444

Match List I with List IT

LISTI LISTII
A |Bacteria I.  |Little leaf in brinjal
B. |Fungi II. |Citrus canker
C. |Mycyvoplasma III. |Fern leaf in tomato
o. | v Powdery mildew in
mango

Choose the correct answer from the options given below:
(1) A-IL B-IV, C-I. D-III
(2) A-II B-I, C-II, D-IV
(3) A-IV. B-III, C-II, D-I
(4) A-I B-II, C-III. D-IV




Il 11 gl 11 U e wifore

g g
A |slErg L [67H | BIE Ui
B. |®d® 1 |feg e
C. |dAEoIEre L [2HRER § BHd®
D. |faur IV.  |3HH (ot o)

fFafaiad famedl ©§ § T8 Sk &1 90 Bl -
(1) A-IL B-IV, C-I. D-III

(2) A-IIL B-I. C-II, D-IV

(3) A-IV, B-III, C-II. D-I

(4) A-I, BIL, C-IIL, D-IV

1[Option ID=14053]

2[Option ID=14054]

3[Option ID=14055]
4[Option ID=14056]

Sl. No.70
QBID:13146445

Match List I with List IT

LISTI LISTII

A [Flood irrigation j {leripasion crops a
rainfall occurs

L [ e e g |Wasing tionph
underground pipes

. o Water flows over the

C. |Trickle Irrigation III. ol
Pipes with strategically

D |Sub Irmgation IV. |placed openings for
watering in root zone

Choose the correct answer from the options given below:
(1) A-III, B-1., C-IV, D-II
(2) A-I, B-II., C-III, D-IV
(3) A-IV, B-III, C-II. D-I
(4) A-II, B-III, C-I, D-IV




Il 11 gl 11 U e wifore

il 1
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c. |fewd s fHas 1L [l @1 Ydg U UMl a1
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i EEERESELEIET]
frafeiRad faeeal & 4 |8l Gox &l 99 Bifo -
(1) A-III, B-I. C-IV. D-II
(2) A-I, B-II, C-III. D-IV
(3) A-IV., B-III. C-II. D-I
(4) A-IL B-III. C-1. D-IV
1[Option ID=14057]
2[Option ID=14058]
3[Option ID=14059]
4[Option ID=14060]
SI. No.71
QBID:13146446
Match List I with List IT
LISTI LISTII
A |Phloem [. |Secondary growth in plants
B. |[Xylem II. |Active cell division in plants
C. |Cambium III. |Transport of food matenal in plants
. v Transport of water and minerals in
plants

Choose the correct answer from the options given below:

(1) A-I, B-II, C-III, D-IV
(2) A-III, B-IV, C-I, D-II
(3) A-IL B-III. C-II. D-IV
(4) A-II., B-IV, C-III, D-I




Il 11 gl 11 U e wifore

1 T
A |TEOH L |[qgi o fgdoe afe
7o — e e
¢ |peam [ e e
@1 AT
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D. [Afes IV.
ol BT ST
frafeiRad faeeal & 4 |8l Gox &l 99 Bifo -
(1) A-I, B-II, C-III. D-IV
(2) A-III. B-IV. C-I, D-II
(3) A-lL B-III. C-II., D-IV
(4) A-II. B-IV. C-III. D-I
1[Option ID=14061]
2[Option ID=14062]
3[Option ID=14063]
4[Option ID=14064]
SI. No.72
QBID:13146447
Match List I with List IT
LISTI LISTII
Al Iresine I Flowering climber
B. Gardenia II. |Edge plant
C. |Aglaonema III. |Flowering brush
D. Clitorea ternatea IV. |Foliage potted plant

Choose the correct answer from the options given below:

(1) A-II, B-III, C-I, D-IV
(2) A-III B-IV, C-I, D-II
(3) A-II B-III, C-IV, D-I
(4) A-I B-III. C-II. D-IV




Il 11 gl 11 U e wifore
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(1) A-IL B-III, C-I, D-IV
(2) A B-IV, C-I, D-II
(3) A-IL B-III. C-TV, D-I
(4) A-L B-III, C-II, D-IV
1[Option ID=14065]
2[Option ID=14066]

3[Option ID=14067]
4[Option ID=14068]

Sl. No.73
QBID:13146448

Match List I with List IT

LISTI LISTII
A |Chowghat orange dwarf I Mango
B. |Bhima Shakti II. |Rose
C. |Arunika III.  |Coconut
D. |Arka Swadesh IV. |Onion

Choose the correct answer from the options given below:
(1) A-L B-IV, C-II. D-III
(2) A-II, B-II. C-1. D-IV
(3) A-IV. B-III, C-II, D-I
(4) A-III. B-IV, C-I, D-II

Il 11 gl 11 U e wifore
1 T
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B. |HHT e 1. [ee
C. |e=fa I EIICT
D. |3Pl Wy IV. |@rd

Fafeiad [deedl & 4 9gl 3 &l 90+ Sy ;




(1) A-I, B-IV, C-II. D-III
(2) A-III, B-II. C-1. D-IV
(3) A-IV, B-III. C-II, D-I
(4) A-III, B-IV. C-1. D-II
1[Option ID=14069]
2[Option ID=14070]

3[Option ID=14071]
4[Option ID=14072]

Sl. No.74
QBID:13146449

Match List I with List IT

LISTI LISTII
A |Rock Garden I  |Sweet Sultan
B. |Fragrant flowers II. |Salvia
C. |5Shady locations III. |Petunia
D. |Potted annuals IV. |Nasturtium

Choose the correct answer from the options given below:
(1) A-I, B-II, C-III. D-IV
(2) A-IV. B-I, C-II. D-III
(3) A-III. B-II, C-IV, D-I
(4) A-III. B-IV, C-II, D-I

Tt 11 g4l 11 ¥ A ifor
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A |R@ARME Qe Tea) I |[wegad

B. [y Bd 11 |wnfeaan

C. |[BHER™H (O

D. |THd H udhaulg Uty IV, [T
Fafeiad [deedl & 3 9l 3 &l 90+ Sy ;

(1) A-I, B-II, C-III, D-IV
(2) A-IV., B-1. C-II. D-III
(3) A-III, B-II. C-IV, D-I
(4) A-III, B-IV. C-II. D-I
1[Option ID=14073]
2[Option ID=14074]

3[Option ID=14075]
4[Option ID=14076]

Sl. No.75
QBID:13146450




Which of the following are important components of the plant cell

A. Centriole and centrosome
B. Mitochondia

C. Lysosomes

D. Plastids

E. Nucleus

Choose the correct answer from the options given below :
(1) C.B and D only
(2) B.D and E only
(3) A.B and C only
(4) B. C and A only

g & @ =9 9 Ueus ™ S Feaq o 87

A. 3t g S

B. AEcisiSal
C. Trgwed
D. @S

E. $5& (g&agy)

9 feu U el § § 981 9T &1 909 S -
(1) T C.BwWD
(2) ¥aUB.DWE
(3) FAW A, BT C
(4) HTUB. CTEA

1[Option ID=14081]
2[Option ID=14082]
3[Option ID=14083]
4[Option ID=14084]

Sl. No.76
QBID:13146451

Major abiotic factors which lead to variations in different ecological habitat

conditions are

A. Soil

B. Vegetation
C. Predators

D. Water

E. Temperature

Choose the correct answer from the options given below :

(1) A and B only




(2) A.B and C only
(3) A.D and E only
(4) C.D and E only

uifRufaet Wit # ufad= & g@0 e (3id) ad 34 9 §7

A Hal
B. g9=fd
C. aeHat
D. wd
E. aH =

2 feu o Yol & § 921 IO &1 909 Hif -
(1) ST AT B

(2) U A, BT C

(3) ¥TA A, DT E

(4) PO C.DWE

1[Option ID=14085]
2[Option ID=14086]
3[Option ID=14087]
4[Option ID=14088]

Sl. No.77
QBID:13146452

Which of the following may occur when light falls on an opaque object ?

A. It may be absorbed

B. It may be absorbed and then reflected
C. It may be reflected or transmitted

D. It may be diffracted

E. It may be refracted

Choose the correct answer from the options given below :
(1) A.C and D only

(2) A.C.D and E only

(3) A.B and C only

(4) B. CandD only




WE USTH U 2ORGERl o W usdl ¢ af g & & == 9t foean gt 82

A. 5 guifyd g oIt &

B. 9% @=nd 5 #X Wakid & 9l &
C. 95 Tafid fuar 99ied 81 Wit &
D. 5 fefa g adi
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4 feu 7o fdweal # T8 IR &1 994 S ;
(1) U A, CwWD

(2) ¥a0 A, C,DWE

(3) MW A, BT C

(4) ¥OAB.C WD

1[Option ID=14089]
2[Option ID=14090]
3[Option ID=14091]
4[Option ID=14092]

Sl. No.78
QBID:13146453

Healing of a graft union mvolves the followng :

A. Production of callus tissue by the cambium

B. Intermingling of cells of both graft components

C. Differentiation of new cambium from parenchyam cells of callus
D. Production of new endodermis in the stem.

E. Production of new vascular tissues by the cambium

Choose the correct answer from the options given below :
(1) A.B and C only

(2) A.B, C and D only

(3) A.B. C and E only

(4) A and B only

UF H0d T (@19 ZH09) & @R WA eR A e S e 1 areH &

A. $ETOH §RI $09 HdS g9

B. &0H & gl 9eai & Siftes &1 e # fAiEg s
C. 09 & W=h1gHT HEnait ¥ 789 FE&ma =1 Gue3 s
D. d # 741 Tsisfag s

E. ¥=104 gN1 994 99841 $as 8441

4= feu v foeal © © T8l IR &1 994 Sifew -
(1) ®aa A. BT C
(2) FFTTA. B.CwWD




(3) a0 A.B.CWE
(4) ST ATE B

1[Option ID=14093]
2[Option ID=14094]
3[Option ID=14095]
4[Option ID=14096]

Sl. No.79
QBID:13146454

Cacti and succulents are specialized from the plants with the following
characteristics :

A. Are deep rooted plants

B. Their leaves are fleshy with few stomata

C. They store moisture mn their foliage or stems
D. They bear woody stems

E. Leaves are waxy or at times pubescent

Choose the correct answer from the options given below :
(1) A.C and D only
(2) B. C and D only
(3) A.D and E only
(4) B. C and E only

FacH qul Gadod Ue ARy ver 08§ il fequ i §

A TEldsad od &

B. T¢eR 9ftil U S9% & 513 § 9uf W 541
C. gfed! ud a4 § o0 S8 S

D. &7 T gar g

E. ufsraf A ot srar &4 dfa (@fed=) €6 7

2 feu v fEl & 98 IR &1 909 Sife
(1) T A, CTWED
(2) ¥TAB.C WD
(3) FAW A, DWW E
(4) ¥qUB.CWE

1[Option ID=14097]
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The major reasons for the spoilage of foods 1s

A. Microbial contamination

B. Poor storage conditions

C. Rodents and pests

D. Metabolic activities within the foods
E. Storage along with other food items.

Choose the correct answer from the options given below :
(1) A.B and E only

(2) B.C.D and E only
(3) A.B. C and D only
(4) A.C.D and E only
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The major stages nvolved m micropropagation are

A. Selection of suitable explant and its sterilization
B. Establishment of explant on growing media

C. Proliferation of explants of produce more shoots
D. Rooting of proliferated plants

E. Hardening of rooted plants

Choose the correct answer from the options given below :
(1) A.B.C.D and E only
(2) A.B. C and D only




(3) B.C.D and E only
(4) A.B and C only
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An average 1s considered to be a representative of a population and should
possess the following characters :

(1) Should be only one fixed derived value

(2) Computation should be based on all observations

(3) Should not be affected by the fluctuations of sampling

(4) All of the above
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What do you understand by "Population’ as referred in statistical analysis ?
(1) An aggregate of mdividual observations

(2) A mass of organic material




(3) An addition of matenals
(4) None of the above
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Selection of a limited number of mdividuals which are representative of any
population for collection of observations n known as

(1) Probability

(2) Random sampling

(3) Varability studies

(4) Correlation studies
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What do you understand by sustamnability m Horticulture ?
(1) Continuty of horticultural commodities can be mantained
(2) Avoiding depletion of natural resources

(3) Both of the above
(4) None of the above
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During hybridization the traits which are expressed in the F; generation are said
to be

(1) Codominant

(2) Recessive

(3) Dominant

(4) None of the above
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Which of the following is the basic reason for Horticultural plant species
becoming endangered ?

(1) Increasing urbanization

(2) Destruction of natural habitats

(3) Overexploitation for industrial uses

(4) All of the above
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Visible light 1s transmitted in discrete umts called

(1) Protons




(2) Electrons

(3) Photons

(4) Neutrons
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When the embryo enters into a state of inactivity due to unfavourable
envirommental conditions it 1s said to be

(1) Dormant

(2) Latent

(3) Potent

(4) All of the above
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Which of the following is not a monosaccharide sugar ?
(1) Sucrose

(2) Lactose

(3) Cellulose

(4) All of the above
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The number of ATP that forms during the Kreb's cycle of respiration will be :
(1) 8

(2) 15

(3) 22

(4) 30
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Inflorescence of which of the following fruits is a panicle ?
(1) Mango

(2) Litchi

(3) Both Mango and Litchu

(4) None of the above
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Regular pruning in ber is generally recommended because of which of the
following :

(1) Ber experiences summer dormancy

(2) Fruits are borne on young growing shoots of current season




(3) Ber is a hardy tree and grows well n and and semi and regions
(4) None of the above
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Which of the following systems of training are successfully used in modern apple
cultivation ?

(1) Fan Palmette

(2) Dwart Pyranud

(3) Espalier system

(4) All of the above
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Which of the following is a vigorous rootstock of apple ?
(1) M9

(2) M7

(3) MMI109

(4) M6

9 & 9 o1 9 98 &1 iawl quad o

(1) M9

(2) M27

(3) MMI109

(4) M6




1[Option ID=14169]
2[Option ID=14170]
3[Option ID=14171]
4[Option ID=14172]

Sl. No.96
QBID:13146471

Which of the following is a fermented vegetable product ?
(1) Saurkraut

(2) Curd

(3) Marmalade

(4) Cider
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Which of the following is a low cost structure suitable for protected cultivation ?

(1) Hot beds
(2) Glass house
(3) Conservatory

(4) Poly house
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Which out of the following fruits 1s the richest source of Vitamun C ?

(1) Lime
(2) Orange
(3) Guava




(4) Amla
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Which of the following varieties of pineapple is suitable for processing and also
for consumption as fresh fruit ?

(1) Smooth Cayenne

(2) Queen

(3) Abacaxi

(4) Spanish

AT B B G fae (o) d A SUHRT 5g U9 URRe gl % R eea &
(1) =Y &dH

(2) o

(3) USTHaHl (quIBaH)

(4) =i

1[Option ID=14185]
2[Option ID=14186]
3[Option ID=14187]
4[Option ID=14188]

Sl. No.100
QBID:13146475

Which of the following is known as the Rooting Hormone ?
(1) Gibberellic Acid (GA;)

(2) Indole Butyric Acid

(3) Ethylene

(4) Abscissic Acid
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